Name: Teacher:

YEAR 11 MATHEMATICS ASSESSMENT TASK - JUNE 2008

Time Allowed: 60 minutes

Full working should be shown in every question..

Marks may be deducted for careless or badly arranged work.

No liquid paper is to be used.

If a correction is to be made, one line is to be ruled through the incorrect answer.

Marks

1. Find the exact value of

a) tan 300° 1

b) cosec (-225°) 1
2. 2

41°18°
15m

A tree casts a 15m shadow when the elevation of the sun is 41° 18°.

Find the height of the tree.
3.  The interior angles of a regular polygon are 150° 2

How many sides does it have?
4. Find X (no reasons required)

- 1
307'5x°
3x°

5. If sin 6 = ; and cos ¢ <0 find the exact value of tan @ 2
6.  Ifsin (2x+20)° = cos (3x -80)° find x 2

7. Show that 3x + 4y + 25 = 0 is a tangent to the circle x* + y*> = 25 3




8. Solvefor0 < 6 < 360° Marks
a) Sing = ﬁ 2
2
b) 2cos? @ =2 +sin @ 3
C) sec20 =cos26 3
9. Find the exact value of x in the following, if the triangles below are similar. 4
X 2
10.
B(3,6)
A
A(-1,2)
E
C(5,0)
i)  Find the gradient of AB 1
i) Find M, the midpoint of AB 1
iii) Find the equation of the line / through M perpendicular to AB 2
iv) Show that C(5,0) lies on the line / 1
v) If AB has equation x —y + 3 = 0 find the perpendicular distance from C to AB 2

vi) If MCEB is a rectangle find the area of the trapezium ABEC 3



11. Marks

A B E
D C
ABCD is a rectangle. AB is produced to E such that BD || CE
i) Prove AABD = ABCE 3
ii) IfAB:BC=2:1find «BEC 2

12. a) Sketch the graphs of y = cos x for 0 <x <360°and y =% on the same set of axes 2

b) For what values of x in the domain 0 < x < 360° is cos x > . 2

13.  Two planes leave Sydney at the same time. One flies 300nm northwest to Point A.
The other flies 420nm on a bearing of 251° to Point B.

A
S
y
B
i) Show £ ASB =64° 1
ii) What is the distance AB? 2

iii) What is the bearing of B from A? 3



Marks

14, Showw =cosec @ +sec @ 3
cos@ —sin @
15.
A
E j b D
X
>
B C
i) Show AD = BC 2
cospf
ii) Prove BC= —xc.osacosﬂ 3
Sin(a - p)

END OF EXAMINATION



S in 135
= .
il
\gX
= \JI.
2 a4y =
. \S
YR LY ‘kr\"”o‘g’
= (3418 .
(§On—360 = 150nm
30 = 30O
N= | %
Sl e k.
x = 18°

1

Soluhons. -

F R
| \EE!
6. Rx+20+ 3x-go= 90°
By -60 =9o
X = 80° 2.

3,_,,43“,; o (for 2 kfj’

. 5‘0\46\%1"
o xtiytas

VHem ol=5 u»'r!r.
AL {?(o) +4‘£°) -rZS]

=
] 3t4*
k= 25
S
A =5 3
. g/u—‘lj #15'-—0 T a -"m-ae.a““
? a) g,ﬁ& '\r-
- . 60 20" 2

b) 4(032'6» =2 4$3.A6

“)—+S‘;r~9—

= 3147434—),5, P‘

2$)n G-*f'r\e‘ =0 ( "]
§\—~0f(2$»ne +1) —-o 3

-~ = _J‘
S~ = z -

- £=C 1%0 5607, 2107, 330"

SR —0O

ok =
xX+6 X2

X (x+2) =6x+36
2Ty 23 —bx —36=0
1E— 4o —36=0

4+ J16— 4.1 -3¢
2
4+ J l6o
L
4 + 4o
< -
2+alic bAx>o

St x = a2y 2o

+ 4+4Jio 1
(acce{: < )4—

£c) CSee kollerm ol Jast '
9. 6 TP

i >

"

\1

"

(T4 T —=— = | |
™ (31—’! 4'4—?—
09 2 J) 2

2y 5%)

P N

- (L9) -:lif



(ﬁg 3"’4‘:—*\(31-"9

3 =
()

o +5

s . (5 v)

2

0= —5+5

0z O

2. (59)

)/ = =4S

[iea on

N—

(v

d= [()+-1(5)+3]

V6™

D

(

AM=

Aloradie. £@,2 )
CE?J_,_S’——

,_"ﬂ-,,e :‘zl %__ (ﬁz#@)
- & 4—\}—1—2@
S5 (5
- 4€
2
:—2‘-‘— Vm'l"b (3>
I & = €
D <
U)A_ PAB=0C0" = £ ABC (A—'.ﬁln.ro{’
area(-.)

4 <BiE =90° (g-ﬁmgf\‘/‘ /_)

. AR = LegeE

AD = BC (Oponite Sichs of &
Z A 8D = AEec ([ormsPo.—a(lcsli

<. ORBO T A Bec (AAS)

1) dan LREC = L
cn n<L 3

L BEC = ¢ g4’ >

B 0
(), LAss =3eor (8S1+as]
) = ¢4’ !
(D Q%= 305% 44202 (30 Nas0)en 6]

¥

= 394-8? h.m. 2




20 94 . 8¢
CSL/gAS Qosmbt
394 &8
- LRBAs. T 72°56'
“-'ge‘m'gj = (16" +72756
T T oI%e®se 3

, l4/ -Co+9 —'+a'\9’ - Cosaga-

CofE — Sin 9 + Sect
‘LHS.=
Qs —sne
Sim & Cos©
L Coso — $.\AE 7
Cosles — sinke- B ]
SM& Ccos$- Cos 6 -51-&

= (o3& + sm) (cos© v"“)
. (S.u&(es&>(('0>0/"9')
= ,CC;S'/ + &l

S,

i = "CO-‘eC@- + Secs- 3

Iy
/: - - N8 D
%
X
B c
(h C&R=De  bapes BC
“AD.
— SR = K_
Cog, AD
> AD = '
COSﬁ -’O 2
(iv LC—AD *-B
X = AD
sm(-8)  Si(ao )
AD = X si(Go-)
Snp)
= x CosK
S~ (ol"a)

fomn® B = A

B : X CoS~< CaB

veshen (Ah%m'u l&)

3>L+¢ 425 0 = j-—-—2€—
Sty & 25 |

69.5 F150> +9x* =25
6
lé»?’ + (25 +I‘S'O:>L +A -:400

A5 x*+ 150X+ 225 =0

J,l -6x+ 9 s
(a-D*= '

' )X =3
o (3 %)
Y= 4 :

N

O/,{j
. 3o by £25=0
Sargent- o xl/-y-";zc

r e

) srcaa = <os28-

l - €S 26~
£ 29-

wstae = |
Cos 28 = = | 3
A& = 018U 360 640 720

/ /77Z 07[ rn%‘e'seex;

C = o, Go (£0 279 Fo"



